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NEW QUESTION 1
A developer has created an application based on customer requirements. The customer needs to run the application with the minimum downtime. Which design
approach regarding high-availability applications, Recovery Time Objective, and Recovery Point Objective must be taken?

A. Active/passive results in lower RTO and RP
B. For RPO, data synchronization between the two data centers must be timely to allow seamless request flow.
C. Active/passive results in lower RTO and RP
D. For RPO, data synchronization between the two data centers does not need to be timely to allow seamless request flow.
E. Active/active results in lower RTO and RP
F. For RPO, data synchronization between the two data centers does not need to be timely to allow seamless request flow.
G. Active/active results in lower RTO and RP
H. For RPO, data synchronization between the two data centers must be timely to allow seamless request flow.

Answer: A

NEW QUESTION 2
A cloud native project is being worked on in which all source code and dependencies are written in Python, Ruby, and/or JavaScnpt. A change in code triggers a
notification to the CI/CD tool to run the CI/CD pipeline.
Which step should be omitted from the pipeline?

A. Deploy the code to one or more environments, such as staging and/or production.
B. Build one of more containers that package up code and all its dependencies.
C. Compile code.
D. Run automated tests to validate the correctness.

Answer: A

NEW QUESTION 3
How should a web application be designed to work on a platform where up to 1000 requests per second can be served?

A. Use algorithms like random early detection to deny excessive requests.
B. Set a per-user limit (for example, 5 requests/minute/user) and deny the requests from the users who have reached the limit.
C. Only 1000 user connections are allowed; further connections are denied so that all connected users can be served.
D. All requests are saved and processed one by one so that all users can be served eventually.

Answer: D

NEW QUESTION 4
A network operations team is using the cloud to automate some of their managed customer and branch locations. They require that all of their tooling be
ephemeral by design and that the entire automation environment can be recreated without manual commands. Automation code and configuration state will be
stored in git for change control and versioning. The engineering high-level plan is to use VMs in a cloud-provider environment then configure open source tooling
onto these VMs to poll, test, and configure the remote devices, as well as deploy the tooling itself.
Which configuration management and/or automation tooling is needed for this solution?

A. Ansible
B. Ansible and Terraform
C. NSO
D. Terraform
E. Ansible and NSO

Answer: B

NEW QUESTION 5
An application is hosted on Google Kubernetes Engine. A new JavaScript module is created to work with the existing application. Which task is mandatory to make
the code ready to deploy?

A. Create a Dockerfile for the code base.
B. Rewrite the code in Python.
C. Build a wrapper for the code to “containerize” it.
D. Rebase the code from the upstream git repo.

Answer: D

NEW QUESTION 6
Where should distributed load balancing occur in a horizontally scalable architecture?

A. firewall-side/policy load balancing
B. network-side/central load balancing
C. service-side/remote load balancing
D. client-side/local load balancing

Answer: B

NEW QUESTION 7
Which statement about microservices architecture is true?
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A. Applications are written in a single unit.
B. It is a complex application composed of multiple independent parts.
C. It is often a challenge to scale individual parts.
D. A single faulty service can bring the whole application down.

Answer: B

NEW QUESTION 8

Refer to the exhibit. Which two functions are performed by the load balancer when it handles traffic originating from the Internet destined to an application hosted
on the file server farm? (Choose two.)

A. Terminate the TLS over the UDP connection from the router and originate an HTTPS connection to the selected server.
B. Terminate the TLS over the UDP connection from the router and originate an HTTP connection to the selected server.
C. Terminate the TLS over the TCP connection from the router and originate an HTTP connection to the selected server.
D. Terminate the TLS over the TCP connection from the router and originate an HTTPS connection to the selected server.
E. Terminate the TLS over the SCTP connection from the router and originate an HTTPS connection to the selected server.

Answer: DE

NEW QUESTION 9

Refer to the exhibit. This snippet of a script has recently started exiting abnormally with an exception stating “Unexpected HTTP Response code: 429”. Which
solution handles rate limiting by the remote API? 

A. 

B. 

C. 

D. 
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Answer: D

NEW QUESTION 10
Which snippet presents the correct API call to configure, secure, and enable an SSID using the Meraki API?

A. 

B. 

C. 

D. 

Answer: B

NEW QUESTION 10
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A container running a Python script is failing when it reaches the integration testing phase of the CI/CD process. The code has been reviewed thoroughly and the
build process works on this container and all other containers pass unit and integration testing.
What should be verified to resolve the issue?

A. that the correct port is exposed in the Dockerfile
B. that the necessary modules and packages are installed on build
C. that the script is running from the night directory
D. that the Python version of the container image is correct

Answer: B

NEW QUESTION 15
AppGigabitEthernet interface is used as data port for a container on a Cisco Catalyst 9000 Series Switch. Which two interface configuration options should be
used? (Choose two.)

A. trunk interface
B. bridged virtual interface
C. SPAN port
D. management interface
E. subinterface

Answer: AC

NEW QUESTION 20
Which two types of storage are supported for app hosting on a Cisco Catalyst 9000 Series Switch? (Choose two.)

A. external USB storage
B. internal SSD
C. CD-ROM
D. SD-card
E. bootflash

Answer: AB

NEW QUESTION 23

Refer to the exhibit. Which configuration of method and parameter retrieves the health of a laptop connected to the network from Cisco DNA Center?

A. PUT; network-health;
B. GET; client-health;
C. GET; network-device;
D. POST; network-device;

Answer: C

NEW QUESTION 26

Refer to the exhibit. Which code snippet is required in the headers to successfully authorize wireless information from Cisco DNA Center?

A. headers = {‘X-auth-token’:’fa8426a0-8eaf-4d22-8e13-7c1b16a9370c’} B.headers = {‘Authorization’:’Basic YWRtaW46R3JhcGV2aW5IMQ==’}
B. headers = {‘Authorization’:’Bearer ASDNFALKJER23412RKDALSNKF”}
C. headers = {‘Content-type’:’application/json}

Answer: A
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NEW QUESTION 30
There is a requirement to securely store unique usernames and passwords. Given a valid username, it is also required to validate that the password provided is
correct. Which action accomplishes this task?

A. Encrypt the username, hash the password, and store these values.
B. Hash the username, hash the password, and store these values.
C. Encrypt the username, encrypt the password, and store these values.
D. Hash the username, encrypt the password, and store these values.

Answer: A

NEW QUESTION 31
While developing an application following the 12-factor app methodology, which approach should be used in the application for logging?

A. Write a log to a file in the application directory.
B. Write a log to a file in /var/log.
C. Write the logs buffered to stdout.
D. Write the logs unbuffered to stdout.

Answer: D

NEW QUESTION 33
What is submitted when an SSL certificate is requested?

A. PEM
B. CRT
C. DER
D. CSR

Answer: D

NEW QUESTION 37

Refer to the exhibit. A kubeconfig file to manage access to clusters is provided. How many clusters are defined and which of them are accessed using
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username/password authentication versus certificate?

A. two clusters; scratch
B. three clusters; scratch
C. three clusters; development
D. two clusters; development

Answer: C

NEW QUESTION 40
Which two strategies are used to protect personally identifiable information? (Choose two.)

A. Encrypt data in transit.
B. Encrypt hash values of data.
C. Encrypt data at rest.
D. Only hash usernames and passwords for efficient lookup.
E. Only encrypt usernames and passwords for efficient lookup.

Answer: AB

NEW QUESTION 45
The response from a server includes the header ETag: W/”7eb8b94419e371767916ef13e0d6e63d”. Which statement is true?

A. The ETag has a Strong validator directive.
B. The ETag has a Weak validator directive, which is an optional directive.
C. The ETag has a Weak validator directive, which is a mandatory directive.
D. The ETag has a Strong validator directive, which it is incorrectly formatted.

Answer: B

NEW QUESTION 49

Refer to the exhibit. a developer created the code, but it fails to execute. Which code snippet helps to identify the issue?

A. 

B. 

C. 

D. 

Answer: C

NEW QUESTION 50
Which HTTP status code indicates that a client application is experiencing intentional rate limiting by the server?
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A. 202
B. 401
C. 429
D. 503

Answer: C

NEW QUESTION 52
Which database type should be used to store data received from model- driven telemetry?

A. BigQuery database
B. Time series database
C. NoSQL database
D. PostgreSQL database

Answer: B

NEW QUESTION 54

Refer to the exhibit. Which key value pair from the ios_ntp Ansible module creates an NTP server peer?

A. state: present
B. state: True
C. config: present
D. config: True

Answer: A

NEW QUESTION 55
A developer needs to configure an environment to orchestrate and configure. Which two tools should be used for each task? (Choose two.)

A. Puppet for orchestration
B. Terraform for orchestration
C. Terraform for configuration
D. Ansible for orchestration
E. Ansible for configuration

Answer: BE

NEW QUESTION 56
Application sometimes store configuration as constants in the code, which is a violation of strict separation of configuration from code. Where should application
configuration be stored?

A. environment variables
B. YAML files
C. Python libraries
D. Dockerfiles
E. INI files

Answer: B

NEW QUESTION 61
......
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